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For problems 5 and 6, be sure to keep the same units of measurement
for P.. and P and for vy and Vye

1 P
5. P1= 742 mm Hg
P2= 1.00 atm
Vo= 127 mi

1

What is the value of:

PZ in mm Hg? mm Hg

P1 in atm? atm
v

i ?
o in mL?

v

6. P,= 1.07 atm
P2= 760 mm Hg
V1= 47.8 mL
What is the value of: 5
P1 in mm Hg? mm Hg

P2 in atm? atm

v, in ML? nL A 3
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Sample Problem 4 If the volume of a gas is 300 mL when the pressure
is 760 mm Hg, what will be the pressure of the gas when the volume
is changed to 317.mL? Assume the temperature remains constant.

Solution When volume increases, pressure decreases; thus, the cor-
Tection factor should be a fraction with a value of less than 1:

760 mm Hg X 300 mL
==—— = 719 mm Hg
S 317 mL Py

original correction final pressure
pressure factor less less than
than 1 original pressure

Sample Problem 5 If the volume of a gas changes from L) ol o
pressure of 720 mm Hg to a volume of 48 L, what will the new
pressure be? Assume constant temperature.

Solution When volume decreases, pressure increases; thus, the
correction factor should be a fraction with a value of greater
than 1:

720 mm Hg X _50 L _ 750 mm Hg
48 L
1 2 ~
original correction final pressure

pressure factor greater greater than
than 1 original pressure

Applying the principles of Boyle's law, use correction factors
to solve the following problems. Assume constant temperature in
all problems. In the space beside each problem, show a labeled
setup. - Do any necessary arithmetic and write your answers in the
spaces provided.

i 8.30 mL
675 mm Hg
28.5 mL





[image: image3.jpg]ACTIVITY 3
= 1.00 atm
= 0.850 L . k!
= 1.15 atm

10. = 12.4 L
= 10.0 L
= 760 mm Hg

= mm Hg

For problems 11 and 12, be sure to keep the same units of measure-
ment for P1 and Pz, and for V1 and V2.

o 25 V1= 765 mL
Vy= 1.25 L
P1= 760 mm Hg

What is the value of:

V1 in L? L

V2 in mL? mL

P2 in mm Hg? mm Hg

V,= 8260 mL
V,= 4.00 L
P_.= 724 mm Hg

123

N

hat is the value of:
in L? L

in mL? mL

in atm? atm
in mm Hg? mm Hg

in atm? atm

R

0=
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Applying the principles of Boyle's law, use either the formula
or the correction factor method to solve the following problems.
Assume Gonstant temperature’ in all problems. In the space below
each problem, show a labeled setup. Do any necessary arithmetic
and write your answers in the spaces at the right.

13. A sample of gas occupies 2.50 L at 1.15 atm 13
of pressure. What is its volume at standard
atmospheric pressure?

14. A 500-mL sample of gas at 760 mm Hg is 14.
compressed to 100 mL. What is its new -
pressure?

15. A sample of gas occupies 45.2 mL at 720 5%

mm Hg. What is its volume at standard
atmospheric pressure?

16. A sample of gas occupies 125 mL at standard 16.
pressure. What is its pressure when its
volume is compressed to 7540 mL?
P

LEFE=





[image: image5.jpg]18. The Pressure op 4 625-mr, sample of gas is changed from 0.925
atm to 1.45 atm. What jg the new volume of that sample of

gas? 18
e o

19, T s small automobile engine, a typical Cylinder has a maximum

£o be inflateq to & total pressure of 4.75 atm. o reach this pressure
the confined gas in a bicycle pump is Compressed to a smaller
volume. at what volume does tha confined gag exert g Pressure of

4.75 atm? ¢ 20.
et
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